CARE International in Afghanistan

Ca re Fleld Supervisor— Written Test

Approximate time to complete: | Hour
Maximum Marks: 60

Date: May 19, 2022

Note: 0  You are required to answer cach of the provided questions. Please keep your answers relevanmt
Do not write your name anywhere in written test paper 1o specify the candidsie.

Please do not use different pens, usc one color and type of pen.

Each question has equally 10 marks.

000

—

Question 1: What is project management? How would you implement a project with different

Question 2: Explain challenges of community assessment and beneficiary selection? What crite:
applied for beneficiary selection?

Question 3: What technical supports needed for smooth implementation of the project and mz
effective office?

Question 4: What are IDP’s, returnees and host family challenges and main factors?

Questlon 5: Being a Field Supervisar What is your understanding by rural livelihood? Provide st
explanations?

_Question 6: What is the ditference between monituring ahw evalualion process?
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(© ketabton com: TheQiekigtion -7, Find the pipe diameter from the spring to water reservoir according to
the bellow information?

1-Village = 500 familles (each family = § person)

2-0ifferent of elevation between spring and reservolr = 34 m
J-Length of line = 1 lit/sec

4-Discharge of spring = 2.5 lit/sec

&Type of pipe GL (C=130)

7-Asgume the average velocity = 1.5 m/sec

S — —— - -
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L=100M

1= 100cm
R2+50cm
(PpOint §)
Q.6. Defing the layers of road tolally * s

(point 4)

orh L L ar
o write the wates gischarge formuia

Q-ll\ Please define the hate hed arva yolume and %
R1+500mm
R2=35cm

L=1M, Ve? (point b)

m which uses in Afghanistan SO tar please mention
o main parts of a solar network

o

Q8. What are the most fame water supply syste
regarding various or types of water pipes wrych uses also mention th

system? (point 6)

Q9. What is resilient livelinood program goal In community, define it obviousty? (point 6)

Q_;_Q_ please define the water reservoir volume if

——

s
¥y

PO=100f

R=3%
N=5year
MRRD norm is 25lit/24h. The beneficiaries use water 17 hours in 24 hours (point 8).
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L. Whar i
hat is Slump Test? Explain i1s types and equIpment 'y}
2. Deline the following 1erms?

4. Monitoring

Coordination
c. QA
d QC

€. Water Quality

3. What is the main difference between gravity pipe scheme and solar pipe scheme?
4. What is work plan and Explain project life cycle?
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Best of Luck!
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1. Step to be followed in drilling of tube well
2. Component of gravity water system

3. Type of Latrine

4. HE massage In Hygiene

5. Ability of Hygiene promoter

6. Pump Test

7 Walter Security
8. Water treatment

9. Rain Water Harvesting

10 Natural Resource Management
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= Define the following termy?
a. Moniton’nx

Coordination
c. QA
d. QC

€. Water Quality

3. What is the main difference between gravity pipe scheme and solar pipe scheme?

4. What is work plan and Explain project life cycle?
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Which one of the following words is incarrect? The first Native Americans to occupy what .79
is now the southwestern United States were the Big-Game Hunters, which appeared about

10,000 B.C
whatis (4 which (3 to occupy (2 were (1
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Which one of the following words is incorreet? Most sand dunes are always in motion as (58
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